AR; % [fb] AR % [fb]
AR¢(b,)
0.0-0.3 18000 £ 100 £ 1100 1.2-1.5 32300 £ 100 £ 1800
0.3-0.6 38300 £+ 200 + 2200 1.5-2.0 21000 £+ 100 + 1200
0.6-0.9 41800 £ 200 £ 2300 2.0-2.5 9110 £ 70 £ 540
0.9-1.2 38300 £ 200 4 2100 2.5-4.5 1318 + 16 + 88
AR (by,)
0.0-0.3 18300 £ 100 £ 1100 1.2-1.5 32800 £ 200 £+ 1700
0.3-0.6 37200 £ 200 £ 2000 1.5-2.0 21900 £ 100 + 1200
0.6-0.9 40500 £ 200 £ 2100 2.0-2.5 9440 + 80 + 580
0.9-1.2 37400 £ 200 £ 2000 2.5-4.5 1334 + 16 + 89
AR (jw1)
0.0-0.3 25800 £ 200 £ 1300 1.2-1.5 26800 £ 100 £ 1500
0.3-0.6 47200 £ 200 £ 2500 1.5-2.0 16860 £ 90 + 930
0.6-0.9 44300 £ 200 £ 2400 2.0-2.5 7630 £ 60 + 430
0.9-1.2 35300 £ 200 £ 2000 2.5-4.5 1187 + 14 =78
ARt (jwa2)
0.0-0.3 8980 £ 100 £ 480 1.2-1.5 36000 £ 200 £ 2000
0.3-0.6 26700 £ 200 £ 1300 1.5-2.0 26100 & 100 + 1400
0.6-0.9 37100 £ 200 £ 1900 2.0-2.5 12970 += 90 + 720
0.9-1.2 38600 £ 200 £ 2100 2.5-4.5 2230 £ 20 + 140
AR (j1)
0.0-0.3 1160 &= 30 += 110 1.2-1.5 9210 £ 80 £ 680
0.3-0.6 3480 £ 50 + 280 1.5-2.0 11380 £ 70 + 820
0.6-0.9 5950 + 60 =+ 460 2.0-2.5 11600 £ 80 =+ 790
0.9-1.2 7610 &= 70 + 550 2.5-4.5 5020 £ 30 + 330
AR(j2)
0.0-0.3 482 + 15 £ 53 1.2-1.5 3720 £ 40 + 350
0.3-0.6 1550 += 30 + 150 1.5-2.0 4140 + 40 + 380
0.6-0.9 2640 £ 40 + 260 2.0-2.5 3820 £ 40 + 380
0.9-1.2 3260 + 40 =+ 300 2.5-4.5 1380 = 10 += 120
AR(j3)
0.0-0.4 181+ 7 +£31 1.5-2.0 1280 = 20 + 150
0.4-0.8 642 + 14 =79 2.0-2.5 1160 = 20 + 150
0.8-1.2 1000 += 20 £+ 120 2.5-4.5 408 + 7 446
1.2-1.5 1160 = 20 + 140 —
AR (ja)
0.0-0.4 427 +£ 29 +£9.2 1.5-2.0 359 + 10 £55
0.4-0.8 163+ 6 +23 2.0-2.5 322+ 9 +£55
0.8-1.2 273+ 9 +38 2.5-4.5 1134+ 3 +18
1.2-1.5 324 + 10 £53 —




